Chapter 1 Task B
1. 
The table shows the number of births in Canada each year from 1950 to 1967.

a) 
Make a scatter plot of the data.


b) 
What type of relation would model the data? Justify your answer.


c) 
State the domain and the range of the relation.


d) 
Use regression to determine an equation of the curve of best fit for the data. Add this curve to your graph from part a).


e) 
What is the maximum number of births using your regression model? Compare it to the actual maximum and explain any difference.


f) 
Determine the x-intercepts of the regression model. What do they represent?

	Year
	Number of Births

	1950
	372 009

	1951
	381 092

	1952
	403 559

	1953
	417 884

	1954
	436 198

	1955
	442 937

	1956
	450 739

	1957
	469 093

	1958
	470 118

	1959
	479 275

	1960
	478 551

	1961
	475 700

	1962
	469 693

	1963
	465 767

	1964
	452 915

	1965
	418 595

	1966
	387 710

	1967
	370 694


2. 
The table shows the number of births per year in Canada from 1987 to 2000.

a) 
Make a scatter plot of the data.


b) 
State the domain and the range of the relation.


c) 
Use regression to determine an equation of the curve of best fit for the data. Add this curve to your graph from part a).


d) 
How does the curve of best fit compare to that of the data from 1950 to 1967?

	
Year
	Number of Births

	1987
	369 742

	1988
	376 795

	1989
	392 661

	1990
	405 486

	1991
	402 533

	1992
	398 643

	1993
	388 394

	1994
	385 114

	1995
	378 016

	1996
	366 200

	1997
	348 598

	1998
	342 418

	1999
	337 249

	2000
	327 882


3. 
The period from 1950 to 1967 is called the baby boom, and from 1987 to 2000 is called the baby echo. Explain the use of these terms.
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